

#### **Sales Tax Exemption**

Texas A&M University-Commerce is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M University-Commerce.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order				
Purchase Order Date	PO/Reference No.	Revision No.		
Apr 22, 2020	AB0533548	0		

# Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

### **Buyer Contact:**

Buyer	Buyer Email	Buyer Phone Number	
tab - Ball, Travis	travis.ball@tamuc.edu	903.886.5060	
<b>Customer Contact:</b>			
Name:	Lola Kanaman		
Email:	LOLA.KANAMAN@TAMUC.EDU		
Phone:	+1 903-886-5549		

## **Order acceptance instructions:**

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M University-Commerce's Purchasing Department prior to shipping.

Supplier Information		Delivery Information		
Supplier Name Address	GOPHER SPORT 220 24TH AVE NW P O BOX 998 OWATONNA, MN 550600998 US	Delivery Address TAMUS Member:  Attn: Health & Human	21-Texas A&M University - Commerce (21) Lola Kanaman	
Phone	+1 800-533-0446	Performance		
Fax	+1 800-451-4855	Room	NHS Building 110	
FOB / FREIGHT	Destination	2600 S Neal St		
Pre-Pay & Add	No	Commerce, TX 75428		
Payment Terms	0, Net 30	United States		
Contract Number - Header	no value	<b>Delivery Information</b> Required Delivery Date		
Contract Number - Line	no value	Ship Via	Best Carrier-Best Way	
Quote number	548223			

## **Notes to Supplier**

#### **Shipping Instructions**

Attachments for supplier

$\mathbf{n}$	lause	_
~ .	 IZIICA	в

Header	r 001 No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.
	508 Changes must be Approved Prior	Any changes to this Contract without the undersigned Purchasing Agent's prior written approval is not authorized and at the expense of the Supplier.
	due to	This contract is subject to cancellation without penalty, either in whole or in part, if funds are not appropriated by the Texas Legislature, or otherwise not made available to the using Agency.
	522 Governance	Any agreement entered into by Texas A&M University-Commerce shall be governed by the laws of the State of Texas.
	525 Best Value Clause	Agency invokes "Best Value" purchase exemption under House Bill 1545.
	536 Terms & Conditions - TAMU- Commerce	This purchase shall be in accordance with the Texas A&M University-Commerce terms and conditions. To obtain, please go to the following address: http://www.tamuc.edu/facultyStaffServices/purchasing/references/forms/default.aspx

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 44	Spalding TF-250-COmposite Basketball, Size	61-151	EA	22.45 USD	10 EA	224.50 USD
		ı				
2 of 44	Spalding TF-250-Composite Basketball Size 7	61-150	EA	22.45 USD	10 EA	224.50 USD
		I				
3 of 44	Baden Team-Soccer Ball, Size 5 Black	07-880	EA	23.35 USD	10 EA	233.50 USD
		I				
4 of 44	Mikasa VSL215 Volleyball-Synthetic Red/White/Blue	60-722	EA	20.65 USD	15 EA	309.75 USD
		I				
5 of 44	Wilson NFL Air Attack- Composite Football, Official	62-581	EA	26.05 USD	15 EA	390.75 USD
		l				
6 of 44	Titan Compact Ball Cart w/Indoor casters	89-546	EA	319.00 USD	4 EA	1,276.00 USD
		1		<u>'</u>		1

11/2020		1 ux				
7 of 44	Mylec PVC Goal-Compact, Pair of Goals w/Nets	17-268	EA	139.50 USD	3 EA	418.50 USD
		I				
8 of 44	FitPro Champion Mesh Vest Pack-X-large, Red/Blue	29-022	EA	211.50 USD	1 EA	211.50 USD
		ı				
9 of 44	Magnus All-Terrain Hockey Hauler	17-163	EA	350.10 USD	1 EA	350.10 USD
		ı				
10 of 44	Gopher The Keeper Aluminum Folding Soccer Goal w/Net 6'Wx4'Hx2'D	73-066	EA	349.00 USD	4 EA	1,396.00 USD
		'				
11 of 44	Rainbow Premium Classic Coat-Foam Handballs-Set of 6	71-511	EA	107.10 USD	2 EA	214.20 USD
		l				
12 of 44	Vinyl Cone-18"H, Orange	85-835	EA	11.65 USD	20 EA	233.00 USD
		I				
13 of 44	Omnikin Kin-Ball w/2 Latex Bladders-48" dia, Black	11-319	EA	256.50 USD	2 EA	513.00 USD
		ı				
14 of 44	Omnikin UltraBall w/2 Latex Bladders- 60"dia	11-289	EA	310.50 USD	2 EA	621.00 USD
		I				
15 of 44	Rainbow ElevAir Parachute- w/24 Handles, 30' dia	83-895	EA	179.10 USD	3 EA	537.30 USD
		I				
16 of 44	Carlton T800 Shuttlecocks- Medium speed, YellowSkirt, Tube of 6	51-811	EA	12.55 USD	10 EA	125.50 USD
		I				
17 of 44	Penn Ultra Blue Racquetballs-Can of 3	53-362	EA	6.25 USD	10 EA	62.50 USD
18 of 44	Multiuse Eye Guard- Set of 36	17-503	EA	296.10 USD	1 EA	296.10 USD
		I				
19 of 44	Tuff Stryke Bowling Pin Set w/5lb ball	45-942	EA	157.50	8 EA	1,260.00

172020		ı ux				
		I		USD		USD
20 of 44	ClassPlus Disc Golf- QuickShot Disc Pack, Basic	20-889	EA	355.00 USD	2 EA	710.00 USD
		'				
21 of 44	Frisbee Ultimate Disc- Set of 6	20-541	EA	62.95 USD	2 EA	125.90 USD
		ı				
22 of 44	Frisbee All Sport Disc- Set of 6	20-545	EA	44.95 USD	3 EA	134.85 USD
		ı				
23 of 44	DISCatcher Traveler Disc Golf Target- Individual Target	18-301	EA	139.50 USD	5 EA	697.50 USD
		I	1			
24 of 44	Guatemalan Footbag	11-714	EA	6.25 USD	30 EA	187.50 USD
		I	1			
25 of 44	Class Plus 24-Player Lacrosse Pack- w/Whip Sticks	38-678	EA	1,214.10 USD	1 EA	1,214.10 USD
26 of 44	Official Tchoukball Rebounder	58-210	EA	287.10 USD	4 EA	1,148.40 USD
27 of 44	Tchoukball Ball- High School Pro	58-795	EA	22.45 USD	6 EA	134.70 USD
		ı				
28 of 44	Rainbow ClassicCoat-Foam Balls- 6.3" dia, Set of 6	41-217	EA	85.45 USD	6 EA	512.70 USD
		ı				
29 of 44	Speedminton Intermediate Set- 20 Player Set	51-181	EA	431.10 USD	1 EA	431.10 USD
		ı				'
30 of 44	Speedminton Intermediate Set- 10 player set	51-180	EA	233.10 USD	1 EA	233.10 USD
		I				'
31 of 44	InReach Beeper Ball- 8.25" dia	49-006	EA	49.95 USD	15 EA	749.25 USD

		ı				
32 of 44	Rainbow DuraBall Playground Balls 7" dia, Set of 6	72-038	EA	40.45 USD	6 EA	242.70 USD
33 of 44	Rainbow DuraBall Playground Balls- 10" dia, Set of 6	72-059	EA	49.45 USD	6 EA	296.70 USD
		1				ı
34 of 44	Gopher StabiliTee Batting Tee	42-640	EA	26.95 USD	4 EA	107.80 USD
		1				ı
35 of 44	Rainbow TuffSpots- Set of 6	93-025	EA	19.95 USD	10 EA	199.50 USD
		ı				1
36 of 44	Stay-N-Play Soft Dome Cones, Set of 36	93-003	EA	69.95 USD	2 EA	139.90 USD
		1				
37 of 44	GamePlay EZToss Set	58-313	EA	159.00 USD	4 EA	636.00 USD
		1				
38 of 44	White Plastic Practice Balls- Set of 120	31-052	EA	58.45 USD	1 EA	58.45 USD
		1				
39 of 44	InReach Bell Balll- 8" dia	49-007	EA	34.95 USD	4 EA	139.80 USD
		1				ı
40 of 44	Rainbow Blindfolds0 Set of 6	58-024	EA	16.15 USD	4 EA	64.60 USD
		1				ı
41 of 44	Fuse Onix Pickle Ball Indoor Orange 6 Pack	07-711	EA	17.05 USD	5 EA	85.25 USD
		I I				I .
42 of 44	Pickle Ball Swinger Paddle-Wood, Set of 24	68-742	EA	404.10 USD	1 EA	404.10 USD
		1				ı
43 of 44	Rainbow Beanbag Bonanza Pack- Polyester/Cotton Beanbags, Set of 96	01-484	EA	161.10 USD	1 EA	161.10 USD

44 of 44	Gilbert G-TR4000-Rugby Ball, Size 4	62-544	EA	26.05 USD	6 EA	156.30 USD
		1				
			_	Total	17 869	9 00 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu. Invoice must include the PO/Reference number shown above.	Texas A&M University- Commerce  ***Do Not Mail Invoices*** Email invoices to invoices@tamuc.edu PO Box 3011 Commerce, TX 75429 United States